Majeed and Available at www.MathCity.or 10.6-1 Ex10.6 Merging Man and maths Working Kule Q1 dy + 4y= Sec 2 n - 0 For Sol & J'+PY+Q1=F(n) 0 Find Ye = C,Y, +C,Y_ $(D^2+4)Y = Sec2x$ 4 Ye = C Cosx+C Sinx thin Replace C, by U, 4 C, by U to get assumed yp = 4, Cosn+45in $\hat{D} + 4 = 0$ $\dot{D} = -4$ $\vec{D} = (\vec{z})^4$ where U, & U2 and for of no $D = \pm 2\dot{2}$ Note on company Ye we get $\therefore \forall c = c_1 \cos 2\pi + c_2 \sin 2\pi - 0$ 3 71 = Cosx & Y2 = Sinn Ruplace C, by U, & C, by U, in Ye we get W= 4, 4 - 72 4, Assumed Yp = U Cos2n + U Sin2n - 3 F(x) = RHS 30from @ Y1 = Cos2x + 7= Sin2x (For finding U, FU, use formulae $\gamma'_{1} = -2Sin2 \times + \gamma'_{2} = 2Coo2x$ $U_1 = \int -\frac{\gamma_2}{12} \frac{F(n)}{n} dn$ $U_{1}=\int \underline{Y_{1}} F(n) dn$ W = 1/1 - 1.1=(Cos2x)(2Cos2x)-(Sin2x)(-2 Sin2x) @ Put values of U, +U, in Assund = 2 Cos2x + 2 Sin 2x 6 For General Sal W = 2 (Cos2n+Sin2n) -2(1)=2 7 = Ye+ Yp. F(w=Sec2x $U_1 = \int \frac{-y_2}{2} F(n) dn$ $= \int -\frac{\sin 2\pi}{2} \frac{\sin 2\pi}{2} dn = \int -\frac{\sin 2\pi}{2} dn$ Available at www.mathcity.org $U_{1} = \frac{1}{4} \int \frac{2 \sin 2\pi}{\cos 2\pi} dn = \frac{1}{4} \ln \left[\cos 2\pi \right]$ $U_{2} = \int Y_{1} \frac{F(\lambda)}{M} dn$ $U_{L} = \int C_{0052X} \frac{Sec_{2X}}{Sec_{2X}} dm = \frac{1}{2} dm = \frac{1}{2} dm$ Put values of U, & U, in 3 je Assumed 1p we get Yp = Iln/Ciszx/Coszx+ x Sin2x = cos2n+c_Sin2n+(ln(cos2n))+x Sin2n GSol Y=YC+YP

110.6-2

G dy + 4 dy + 5y = e Seen. -O dy + y = tann Secx -0 $(D^2 + 4D + 5)Y = e^{-2\eta}See X$ (D2+1) = tanz Seex $D^{2} + 4D + 5 = 0$ $D = -\frac{4 \pm 16 - 20}{2} = -\frac{4 \pm 22}{2} = -2 \pm 2$ $D_{2} + 1 = 0$ $D_{2} = 15$ $Y_{c} = \overline{e}^{2x} (C_{c} \cos x + C_{c} \sin x) - \Im$ Ye = Cosx+CSinx -D Yp = e (U Cosx + U Sinx) (supposed) Yp = U, Cos x + U Sin x Eupposed)-D $y_{1} = \overline{e}^{2\pi} \cos x + 7_2 = \overline{e}^{2\pi} \sin x$ from []] = Cos x + Y2 = Sinx $W = 1, 1_2 - 1_2 1_3$ $W = Y_1 Y_2 - Y_1 Y_2$ $= \frac{-2x}{e} \cos x \left[\cos x \left[-2x - 2e \sin x \right] - \left[e^{-2x} \sin x \right] \right]$ W = Cosx Cosx + Sin x Sin x (-Sin xe - 2 lesxe) W = Cosx+Sunx = e (Cosx - 200 x Sinx) + e x (Sin x +2 Sin Xa $U_{1} = \int \frac{-\gamma}{2} F(x) dx$ = C (Cosx - Los x Sun + Sin x + 2 Signa (asx) = J-<u>Sinx tann Secx</u> dr = J-Sinx Sinx -L-Cosx Cosx $U_{i} = \int \frac{Y_{i} F(x) dx}{\frac{1}{2} F(x)} dx$ = J.Sinx du -- J-e Sinn e Sucx dr E⁴x = j - Tanx du = Ln Cosx = f-(1-sec n) dn $U_2 = \left(Y_1, F(x) \right) dx$ $U_1 = x - \tan x$ $U_2 = \int \frac{1}{\cos x} \frac{1}{e^2} \frac{1}{e^2} \frac{1}{\sin x} \frac{1}{\sin x} dx = \int dx = x$ $U_2 = \int \frac{\gamma_1}{h} \frac{F(x)}{h} dx$ = JCoox tanx Secuda $\therefore Y_p = e^{2\pi} \left(ln Cos x + x Sin x \right)$ = -ln (Coox) G.Sol Y = Yetyp $= e^{2x} (C_1 \cos x + C_2 \sin x)$ U2 = In Secx. Put UFU in Yp + e [cosx ln cosx + x Sinn] .: Yp = (x-ton x) Cox+ ln Sicx Sinx -G.Sol Y= Yc+Yp Y = CConx+CSinx+(x-Tanx)Cosx+lusecxSinx.

[10.6-3] Ex 10.6 $\frac{d^{2}y}{du^{2}} - \frac{3dy}{dn} + 2y = (1+e^{2})^{-1} \frac{d^{2}y}{dn^{2}} - \frac{4dy}{dn} + \frac{4y}{e^{2}} = \frac{e^{2}}{1+\pi}$ $(D^2 - 3D + 2) = 0$ $D^{2}_{-}4D+4=0$ $(D-2)^2 = 0$ D = 2, 2 $D^2 - 3D + 2 = 0$ $D^2 - D - 2D + 2 = 0$ $Y_{C} = \left(C_{1} + C_{1}\right)^{2\pi}_{C}$ $\mathcal{D}(\mathcal{D}^{-1})^{-2}(\mathcal{D}^{-1}) = 0$ $\gamma \rho = u_1 e^{2x} + u_2 x \bar{e}$ $Y_1 = e^{2\pi}$, $Y_2 = 2e^{2\pi}$, $F(\pi) = e^{-\frac{2\pi}{1+\pi}}$ (D - 2)(D - 1) = 0D = 1, 2. 2x $W = Y_{1}Y_{2} - Y_{2}Y_{1} = e(e^{2\chi}_{2} + 2\chi e^{2\chi}_{2}) - \chi e^{2\chi}_{2}$ $\gamma_{c} = c_{1}e^{\chi} + c_{2}e^{\chi}$ $\gamma p = u_1 e^{\gamma} + u_2 e^{\gamma}$ $W = e^{4}$ $U_{1} = \int \frac{1}{2} \frac{1}{2} \frac{F(x)}{2} dx = -\int x e^{\frac{2x}{2}} \frac{e^{x}}{1 + x} \frac{dx}{e^{4x}}$ $F(x) = \frac{1}{1 + e}$ $Y_1 = e^{2x}$, $Y_2 = e^{2x}$ $W=Y_1Y_2-Y_2Y_1$ $= -\int \frac{\chi \, dn}{1+\chi} = -\int \frac{(\chi+1-1) \, dn}{1+\chi}$ = e 2e - e e = -x + ln]+x] $= 2e^{3\chi} e^{3\chi} = \begin{bmatrix} 3\chi \\ e \end{bmatrix}$ $U_{2} = \int \frac{Y_{1}F(x)dx}{1-1} = \begin{pmatrix} 2x & 2x \\ e & e \\ 1+x & e^{4x} \end{pmatrix}$ $U_1 = \int -\frac{Y_2}{1} \frac{F(x)}{1} dx$ $= U_2 \Rightarrow \left(\frac{dx}{1+x} = \ln|1+x|\right)$ $= -\int \frac{e^{2\chi} \cdot 1}{e^{3\chi} (1 + e^{\chi})} dx$ 1p= (-x+ln|1+x)]e + ln/1+x/xe $= -\int \frac{e}{11+e^{\chi}} dn = \ln(1+e^{\chi})$ General Sol Y = Yc + Yp $U_2 = \int Y_1 F(x) dn$ $7 = (c_1 + c_2) e^{2\chi} + (-\chi + l_n) | + \chi] e^{2\chi}$ + ln/1+x1x22. $= \left(\frac{e^{\alpha}}{e^{3n}(1+e^{\alpha})} \right) dn$ $= \left(\frac{e^{2\pi}}{1+e^{2\pi}} dn \operatorname{Put} e^{2\pi} = 2\right)$ $= \int -\frac{2}{2} \cdot \frac{d2}{2}$ $= \int -\frac{2}{2} \cdot \frac{d2}{2} -\frac{2}{2}$ Available at www.mathcity.org $=\int -\frac{z dz}{1+2} = \int -\frac{z-1+1}{1+2} dz$ $U_2 = -\int dz + \int \frac{dz}{1+2} = -z + \ln(z+1) = -z + \ln(1+e^x)$ $Y_P = l_n (1 - 2) 2 (-2 - 2) (22)$

[10.6 - 4]4Tool (1) x2-dy - 2xdy + 2y = x2xx $\frac{d^2y}{dn^2} - \frac{2x}{x^2}\frac{dy}{dn} + \frac{2y}{x^2} = \frac{x^2e^x}{x^2}$ $(D^2 + 2D + 1)Y = 0$ $\frac{d^3y}{dn^2} - \frac{2}{\pi} \frac{dy}{dn} + \frac{2y}{\pi^2} = \pi e^{\chi}$ $D^2 + 2D + 1 = 0$ $P = -\frac{2}{2} \quad Q = \frac{2}{2} \quad F(x) = x^{2}$ $(D+)^2 = 0 \implies D = -j - 1$ $Y_{c} = (c, +c_{x}) \bar{e}^{x}$ $P + xQ = -\frac{2}{x} + \frac{1}{x^2} = 0$ $\gamma p = (U, +U_{2}x)e^{-x} = Ue^{x} + Uxe^{x}$ · y = r is another soly dissociated homogeneous eq. $Y_1 = \overline{e}^{\chi}$, $Y_2 = \chi \overline{e}^{\chi}$, $F(\chi) = \overline{e} \ln \chi$ Y2= x is given sol. $Y_C = C_1 X + C_2 X$ $W = Y_1 Y_2 - Y_1 Y_2 = \overline{e}^{\chi} (-\chi \overline{e}^{\chi} + \overline{e}^{\chi}) - (-\overline{e}^{\chi}) (\chi \overline{e}^{\chi})$ $\gamma_{p} = u_{1}x + u_{2}x^{2}$ $\gamma_{i=x, \gamma_{i=x}^{2}}$ $= -\chi e^{2x} + e^{2x} + \chi e^{2x} = e^{2x}$ $W = Y_1 Y_2 - Y_1 Y_2 - 2 F(x) = xe^{2t}$ $U_1 = \int \frac{-Y_2 F(x)}{w} dx = \int -\frac{xe^2}{e^{-2\pi}} e^{-\frac{x}{2}} dx$ $W = 2\chi^2 - \chi = \chi^2$ $U_1 = \int -\frac{\gamma_{22}F(x)}{h!} dn$ $= - \int x \ln x \, dn = - \left(\ln x \frac{x}{2} - \int \frac{1}{x} \frac{x}{2} \, dn \right)$ $=\int \frac{x^2 \cdot x e^{\chi}}{x^2} dx = -\int \frac{x e^{\chi}}{1 \pi} dx$ $= -\ln x \frac{\pi}{2} + \int \frac{x}{2} dn = -\ln x \frac{\pi}{2} + \frac{x}{4}$ $U = -x e^{\chi} + \int 1 e^{\chi} dn = -x e^{\chi} + e^{\chi}$ $U_{2} = \int \frac{Y_{1} F(n)}{w} dn = \int \frac{e^{-x} e^{-y} l_{nn}}{e^{2x}} dn$ $U_{2} = \int \frac{Y_{1}F(x)}{W} dx = \int \frac{x}{x^{2}}$ = $\int lnx dn = lnx \cdot x - \int \frac{1}{x} \cdot n dn$ $U_{z} = \int e^{2k} e^{-k} = e^{2k}$ = x lux - S dr = x lux - x $\gamma p = (\chi e^{\gamma} + e^{\gamma})\chi + e^{\chi}\chi^{2}$ $Tp = (-\ln x \frac{\pi}{2} + \frac{\pi}{4})e^{2} + (\pi \ln x - \pi) \pi e^{2}$ =-x2+x2+2x Yp= xex $= \left[-\lim_{x \to 1} \frac{x_1}{y_1} + \frac{x_1}{y_1}$ General Sol Y = Y + Yp $= \left[-2x^{2} \ln x + x^{2} + 4x^{2} \ln x - 4x \right]_{\frac{1}{2}}^{\frac{1}{2}}$ $Y = e_1 x + c_2 x + x e^{2}$ $Tp = (2x^2 \ln x - 3x^2) \frac{-x}{4}$ General Sol $\gamma = \gamma_c + \gamma_p = (c + c \times)e^{-\chi} (c + c \times)e^{-\chi} (n \times -3\pi)e^{-\chi}$

$$\frac{1}{\sqrt{2}} = \frac{2\sqrt{2}}{\sqrt{2}} + \frac{2\sqrt{2}}$$

.

110.6-81

 $\frac{d^2y}{dn^2} - 2 \frac{dy}{dn} + 5 \gamma = e^{2} \tan 2n - 0$ U = Sin 2-1 - 1 hn (Sinx+losx+2Sixlosx 4 Sinx+losx-2Sixlosx $(D^2 - 2D + 5)Y = e^{2} \tan 2\pi$ = Sin2x -1 ln (Cosx+Sinx) 4 8 (Cosx-Six) $D^{2}-2D+5 = 20$ $D = 2 \pm \frac{14 - 20}{2} \pm 2 \pm \frac{24}{2} = 1 \pm \frac{12}{2}$ $= \frac{\sin 2x}{4} - \frac{1}{8} \ln \left(\frac{1 + 7 \tan x}{1 - 7 \tan x} \right)$ $Y_{c} = e^{\chi} (c_{1} c_{0} c_{2} \chi + c_{2} s_{1} c_{2} \chi) - \varepsilon_{2}$ Yp = e (4 Cos2n + 4 Sin2x) supposed $= \underbrace{\operatorname{Sin}_{2}^{2} \times -\frac{1}{2} \operatorname{ln}_{4} \left(\tan\left(\frac{\pi}{4} + \varkappa\right) \right)}_{4}$ WE 1, = e Cos2n & 12 = e Sin2x ·:tan =] " tou (act B)= touch tank 1-tand ton B $Y_{i} = e^{\chi} e^{\chi} + e^{(-2\sin 2\pi)}$ $Y_2 = e Sin 2x + e Cos 2x(2)$ $U_{i} = \frac{S_{in2}x}{4} - \frac{1}{4} ln(lan(\frac{\pi}{4}+x))$ W = 7, 1/2 - 4, 1/2 $\mathbf{U}_{2} = \int \mathbf{Y}_{1} \frac{\mathbf{F}(\mathbf{x})}{|\mathbf{x}|} d\mathbf{x}$ $= (e\cos 2x) e(\sin 2x + 2\cos 2x)$ - ex (Cos22-25in22) x Sin2x) = Jecoszx. ettenzz du $= \frac{2^{\chi}}{e} \left(\cos 2\chi \cdot \sin 2\chi + 2 \cos 2\chi - \sin 2\chi \cos 2\chi + 2 \sin^2 \chi \right)$ $W = e^{2\pi} \cdot 2(\cos 2\pi + \sin 2\pi) = 2e^{2\pi}$ = L Copen Sinen dn $U_{1} = \int -\frac{Y_{2}}{W} \frac{F(x)}{W} dx = \int -\frac{\frac{2}{2} \frac{S_{11}}{S_{11}} \frac{x}{2} \frac{d}{2x} dx}{2\frac{2\pi}{2}} dx$ $= \frac{1}{2} \left(- \frac{\cos 2x}{2} \right)$ = - L Cuszx Puty, y, inYp Let Sin2x=t $=-\frac{1}{2}\int \frac{\sin 2\pi}{\cos 2\pi} d\pi$ 2 cos2 xdr = dt $\mathbf{i} \mathbf{v}_{p} = \underbrace{e^{\mathbf{x}}}_{4} \left[\operatorname{Sin^{2}\mathbf{x}}_{-} \operatorname{ln}(\operatorname{tom}(\underbrace{E}_{+} + \mathbf{x}) \mathbf{k} \right]$ $dx = \frac{dt}{2\cos 2x}$ $= -\frac{1}{2} \int \frac{t^{2}}{(m2x)} \frac{dt}{2(m2x)}$ - (Coszx) Sui : cos2x= 1-Sin2x $= -\frac{1}{24} \int \frac{t^2}{1-t^2} \frac{dt}{t}$ q.sol 1= Mc+Mp = 1- t' $Y = e^{\gamma}(c(\cos 2x + c \sin 2x) +$ $= \frac{1}{4} \int_{\frac{1}{1-t^{2}}}^{\frac{1}{1-t^{2}}-1} dt$ + ex[sin 2 n - ln (tan (A + n) Kr. - (<u>Cus27</u>) Sin $\frac{dx}{dx} = \frac{1}{2} \ln \left[\frac{a+x}{a-x} \right]$ $= \frac{1}{4} t - \frac{1}{4} \left[\frac{1}{2} l_{m} \left(\frac{1+t}{1+t} \right) \right]$ $U_{1} = \frac{\sin 2x}{4} - \frac{1}{8} ln(\frac{1+\sin 2x}{1-\sin 2x})$

; .

ļ

10.6-8] 10.6 Y,= 1 is a sol (given) $\frac{d^2 Y}{dn^2} + \frac{1}{x} \frac{dy}{dn} - \frac{Y}{x^2} = \frac{1}{x^2(\mu x)} - \overline{D}$ P=1 Q=1 $P+Qn = \frac{1}{x} + \frac{-1}{x^2} = 0$ ·· Y2= n'isomother sol ? di +1 dy - Y=0 $U_2 = \left(\frac{Y_1, F(x)}{1}\right) dn$ $V_c = c_1 + c_2 \times c_2$ $=\int \frac{1}{x} \cdot \frac{1}{x^2(1+x)} \cdot \frac{x}{2} dn$ $\gamma_p = U_1 \perp + U_2 \times$ $= \frac{1}{2} \int \frac{dx}{x^{2}(1+x)} - A$ $Y_1 = \frac{1}{2}, Y_2 = 2$, $F(x) = \frac{1}{2}$ $\frac{1}{\mathcal{H}^{+}(1+\lambda)} = \frac{A}{\chi} + \frac{B}{\chi^{+}} + \frac{C}{1+\chi}$ $W = Y_1 Y_2 - Y_1 Y_2 = \frac{1}{24} \cdot 1 - (-\frac{1}{242})^{\times}$ $I = A x (I+x) + B (I+x) + C x^{2}$ $W = \frac{1}{\chi} \frac{1}{\chi} = \frac{2}{\chi}$ x=0⇒) [=B] n=-1=>[=C] Company coefft of n2 $U_{1} = \int -\frac{1}{2} \frac{F(x)}{x!} dx = -\int x \cdot \frac{1}{x!} \frac{1}{(1+x)} \frac{1}{2} dx$ $\begin{array}{c} \circ = A + c \\ \circ = A + i \end{array} \Rightarrow \left[\overrightarrow{A} = -i \right]$ $\frac{1}{\chi^{+}(1+\chi)} = \frac{-1}{\chi} + \frac{1}{\chi^{+}} + \frac{1}{1+\chi}$ $U_1 = -\frac{1}{2} \int \frac{dx}{1+\pi} = -\frac{1}{2} \ln(1+\pi)$ $(A) becomes \frac{1}{2} \int \left(\frac{cin!}{2} + \frac{1}{2} + \frac{1}{2} \right) du$ $\gamma_{P} = \left[-\frac{1}{2} \ln (H_{\chi}) \cdot \frac{1}{\chi} \right] + \left[-\frac{1}{2} \ln \chi - \frac{1}{2} + \frac{1}{2} \ln (H_{\chi}) \right] + \left[-\frac{1}{2} \ln \chi - \frac{1}{2} + \frac{1}{2} \ln (H_{\chi}) \right] + \left[-\frac{1}{2} \ln \chi - \frac{1}{2} + \frac{1}{2} \ln (H_{\chi}) \right] + \left[-\frac{1}{2} \ln \chi - \frac{1}{2} + \frac{1}{2} \ln (H_{\chi}) \right] + \left[-\frac{1}{2} \ln \chi - \frac{1}{2} + \frac{1}{2} \ln (H_{\chi}) \right] + \left[-\frac{1}{2} \ln \chi - \frac{1}{2} + \frac{1}{2} \ln (H_{\chi}) \right] + \left[-\frac{1}{2} \ln \chi - \frac{1}{2} + \frac{1}{2} \ln (H_{\chi}) \right] + \left[-\frac{1}{2} \ln \chi - \frac{1}{2} + \frac{1}{2} \ln (H_{\chi}) \right] + \left[-\frac{1}{2} \ln \chi - \frac{1}{2} + \frac{1}{2} \ln (H_{\chi}) \right] + \left[-\frac{1}{2} \ln \chi - \frac{1}{2} + \frac{1}{2} \ln (H_{\chi}) \right] + \left[-\frac{1}{2} \ln \chi - \frac{1}{2} + \frac{1}{2} \ln (H_{\chi}) \right] + \left[-\frac{1}{2} \ln \chi - \frac{1}{2} + \frac{1}{2} \ln (H_{\chi}) \right] + \left[-\frac{1}{2} \ln \chi - \frac{1}{2} \ln (H_{\chi}) \right] + \left[-\frac{1}{2} \ln \chi - \frac{1}{2} \ln (H_{\chi}) \right] + \left[-\frac{1}{2} \ln (H_{\chi}) + \frac{1}{2} \ln (H_{\chi}) \right] + \left[-\frac{1}{2} \ln (H_{\chi}) + \frac{1}{2} \ln (H_{\chi}) \right] + \left[-\frac{1}{2} \ln (H_{\chi}) + \frac{1}{2} \ln (H_{\chi}) \right] + \left[-\frac{1}{2} \ln (H_{\chi}) + \frac{1}{2} \ln (H_{\chi}) \right] + \left[-\frac{1}{2} \ln (H_{\chi}) + \frac{1}{2} \ln (H_{\chi}) \right] + \left[-\frac{1}{2} \ln (H_{\chi}) + \frac{1}{2} \ln (H_{\chi}) \right] + \left[-\frac{1}{2} \ln (H_{\chi}) + \frac{1}{2} \ln (H_{\chi}) \right] + \left[-\frac{1}{2} \ln (H_{\chi}) + \frac{1}{2} \ln (H_{\chi}) \right] + \left[-\frac{1}{2} \ln (H_{\chi}) + \frac{1}{2} \ln (H_{\chi}) \right] + \left[-\frac{1}{2} \ln (H_{\chi}) + \frac{1}{2} \ln (H_{\chi}) \right] + \left[-\frac{1}{2} \ln (H_{\chi}) + \frac{1}{2} \ln (H_{\chi}) \right] + \left[-\frac{1}{2} \ln (H_{\chi}) + \frac{1}{2} \ln (H_{\chi}) \right] + \left[-\frac{1}{2} \ln (H_{\chi}) + \frac{1}{2} \ln (H_{\chi}) \right] + \left[-\frac{1}{2} \ln (H_{\chi}) + \frac{1}{2} \ln (H_{\chi}) \right] + \left[-\frac{1}{2} \ln (H_{\chi}) + \frac{1}{2} \ln (H_{\chi}) \right] + \left[-\frac{1}{2} \ln (H_{\chi}) + \frac{1}{2} \ln (H_{\chi}) \right] + \left[-\frac{1}{2} \ln (H_{\chi}) + \frac{1}{2} \ln (H_{\chi}) \right] + \left[-\frac{1}{2} \ln (H_{\chi}) + \frac{1}{2} \ln (H_{\chi}) \right] + \left[-\frac{1}{2} \ln (H_{\chi}) + \frac{1}{2} \ln (H_{\chi}) \right] + \left[-\frac{1}{2} \ln (H_{\chi}) + \frac{1}{2} \ln (H_{\chi}) \right] + \left[-\frac{1}{2} \ln (H_{\chi}) + \frac{1}{2} \ln (H_{\chi}) \right] + \left[-\frac{1}{2} \ln (H_{\chi}) + \frac{1}{2} \ln (H_{\chi}) \right] + \left[-\frac{1}{2} \ln (H_{\chi}) + \frac{1}{2} \ln (H_{\chi}) \right] + \left[-\frac{1}{2} \ln (H_{\chi}) + \frac{1}{2} \ln (H_{\chi}) \right] + \left[-\frac{1}{2} \ln (H_{\chi}) + \frac{1}{2} \ln (H_{\chi}) \right] + \left[-\frac{1}{2} \ln (H_{\chi}) + \frac{1}{2} \ln (H_{\chi}) \right] + \left[-\frac{1}{2} \ln (H_{\chi}) + \frac{1}{2} \ln (H_{\chi}) \right] + \left[-\frac{1}{2} \ln (H_{\chi}) + \frac{1}{2} \ln (H$ General Sol is $= C_{1} + C_{1} - \frac{1}{2} \ln (1+n) + \left(\frac{1}{2} \ln n - \frac{1}{2} + \frac{1}{2} \ln (1+n) \right)$ Y = Ye + Yp

$$\frac{\left[10:6-9\right]}{\left[20;6-9\right]}$$

$$\frac{\left[10:6-9\right]}{\left[20;6-3\right]}$$

$$\frac{\left$$

١.

.

.

· .

-

•

.

10.6-10 (3) Find the Sol of (Sinn) diy - (Sin 27) day + (1+ cos x) y = Sin 7 given that Y, = Sinx & 12 = x Sin a one linearly independent Sol of associated homogeneous eq. Note from dy - Sizndy + (+(+(0) 3)Y Set $\cdot, \gamma_1 = Suix + \gamma_2 = \pi Suix (Quien)$ Hmay = C, Y, + C, Y2 = c, Sinx+ G x Sin x $\Rightarrow \frac{d^2 y}{dx^2} = \frac{\sin^2 x}{\sin^2 x} \frac{dy}{dx} + \frac{1+\cos^2 x}{\sin^2 x} y = \frac{1}{\sin^2 x}$ 1p = U, Sinn + U, x Sinn : F(n) = Sinn $W = 1, 1_2 - 1, 1_2$ = Sin (Sinx + x los x) - Cosx n Sinn = Sin x + x Sin Masx - x Cox x Sin x W = Sin x $U_{1} = \int -\frac{Y_{1} F(x)}{1 + \frac{1}{2}}$ = - Jn Sin Sha du $= -\int x dn = \begin{bmatrix} 2 \\ -2 \end{bmatrix}$ $U_{2} = \int \frac{\Psi_{1}F(\pi)}{\pi}$ = Sinx Sinx du = John = D $\gamma_{p} = -\pi^{2} \sin \pi + \pi^{2} \sin \pi$ = CSinx+CxSinx - A Sinx+n Sinn -G. Sol Y = 40+4p $= \left(\begin{array}{c} c + c - n \\ 1 \end{array} \right) \quad \text{Sun } n$ $= \left(c_1 + c_2 + \frac{\pi}{2} \right) Sin \pi$

10.6-11 $\frac{d^{2}y}{dn^{3}} = 3\frac{d^{2}y}{dn^{2}} + 3\frac{dy}{dn} - y = 2\frac{e^{2}}{2}$ The characteristic eq is D³-3D+3D-1=0 (D-1) = 0 therefore D = 1,1,1 $Y_{e} = C_{e}^{\chi} + C_{e}^{\chi} + C_{e}^{\chi}$ C.FZD is Mathema Merging Mai Let $\gamma_p = U_1 e^{\chi} + U_{\chi} e^{\chi} + U_{\chi} \chi e^{\chi}$ (" Yp = U, Y, + U, Y2 + U, Y3 assumed) Here y= ex $Y_3 = xe^{2x}$, $F(x) = \frac{2e^{2x}}{x^{2x}}$ Substitutivy values in $U_1Y_1 + U_2Y_2 + U_3Y_3 = 0 \Rightarrow U_1e^2 + U_2x_2e^2 + U_3y_3 = 0$ Substituty values in U1X+U2Y2+U3Y3=0=>Ue2+U(e2+xe)+U(2ne+ne)= substitution values in U, Y, +U, Y2 + U3 Y3 = F(2) $= \mathcal{U}(\mathcal{Z} + \mathcal{U}(2e^{2} + xe^{2}) + \mathcal{U}_{3}(2e^{2} + 4xe^{2} + xe^{2}) = 2e^{2}$ Solving these egs for U, 142, U's by Cramer's Rule. all ren ren n2 et re grettre xe ze z+ne 2xe+xe $U_{1} = \frac{1}{x^{2}} \frac{d^{2}}{d^{2} + x^{e}} \frac{d^{2}}{2e + 4x^{e} + x^{e}}$ e ne ne neme xe^{χ} $x^{2}e^{\chi}$ $e^{\eta}+ne^{\eta}$ $2\pi e^{\eta}+\pi e^{\eta}$ 2 22 HANE 22 HAR 2et + ne 2et unet ne $U_{1} = \frac{2e^{\chi}}{n^{2}} \left[\chi e^{\chi} \left(2\pi e^{\chi} + \pi e^{\chi} \right) - \pi e^{\chi} \left(e^{\chi} + \chi e^{\chi} \right) \right]$ ren ret ren en 2nen 2en 2nen 2en 2en+hre -Ri+R2 -Ri+R3

10.6-12 $= \frac{2e^{\chi}}{\pi^{2}} \left(2\pi e^{2\pi} + \chi e^{-\pi} - \chi e^{-\pi} - \chi e^{-\pi} \right) \\ = \frac{\chi e^{\chi}}{\pi^{2}} \left(2\pi e^{\chi} + 4\pi e^{-\pi} - \chi e^{-\pi} \right) \\ = \frac{\chi e^{\chi}}{\pi^{2}} \left(2\pi e^{\chi} + 4\pi e^{-\pi} - 2e^{-\pi} (2\pi e^{-\pi}) \right) \\ = \frac{\chi e^{\chi}}{\pi^{2}} \left(2\pi e^{-\pi} + 4\pi e^{-\pi} - 2e^{-\pi} (2\pi e^{-\pi}) \right) \\ = \frac{\chi e^{\chi}}{\pi^{2}} \left(2\pi e^{-\pi} + 4\pi e^{-\pi} - 2e^{-\pi} (2\pi e^{-\pi}) \right) \\ = \frac{\chi e^{\chi}}{\pi^{2}} \left(2\pi e^{-\pi} + 4\pi e^{-\pi} - 2e^{-\pi} (2\pi e^{-\pi}) \right) \\ = \frac{\chi e^{\chi}}{\pi^{2}} \left(2\pi e^{-\pi} + 4\pi e^{-\pi} - 2e^{-\pi} + 2e^{-\pi} \right) \\ = \frac{\chi e^{\chi}}{\pi^{2}} \left(2\pi e^{-\pi} + 4\pi e^{-\pi} + 2e^{-\pi} + 2e^{-\pi} \right) \\ = \frac{\chi e^{\chi}}{\pi^{2}} \left(2\pi e^{-\pi} + 4\pi e^{-\pi} + 2e^{-\pi} + 2e^{-\pi} \right) \\ = \frac{\chi e^{\chi}}{\pi^{2}} \left(2\pi e^{-\pi} + 4\pi e^{-\pi} + 2e^{-\pi} + 2e^{-\pi} + 2e^{-\pi} \right) \\ = \frac{\chi e^{\chi}}{\pi^{2}} \left(2\pi e^{-\pi} + 4\pi e^{-\pi} + 2e^{-\pi} + 2e^{-\pi} + 2e^{-\pi} + 2e^{-\pi} \right) \\ = \frac{\chi e^{\chi}}{\pi^{2}} \left(2\pi e^{-\pi} + 4\pi e^{-\pi} + 2e^{-\pi} + 2e^{-\pi} + 2e^{-\pi} + 2e^{-\pi} + 2e^{-\pi} \right) \\ = \frac{\chi e^{\chi}}{\pi^{2}} \left(2\pi e^{-\pi} + 4\pi e^{-\pi} + 2e^{-\pi} + 2e^{-\pi} + 2e^{-\pi} + 2e^{-\pi} \right) \\ = \frac{\chi e^{\chi}}{\pi^{2}} \left(2\pi e^{-\pi} + 4\pi e^{-\pi} + 2e^{-\pi} \right) \\ = \frac{\chi e^{\chi}}{\pi^{2}} \left(2\pi e^{-\pi} + 4\pi e^{-\pi} + 2e^{-\pi} +$ $=\frac{2e^{3\chi}}{2e^{3\chi}}=1$ $=\frac{2e(2e^{2\pi})}{2e^{2\pi}+4\pi e^{-4\pi e^{2\pi}}}$ $U_{2} = \begin{bmatrix} e^{\mathcal{H}} & 0 & \pi^{2}e^{\mathcal{H}} \\ e^{\mathcal{H}} & 0 & 2\pi e^{\mathcal{H}} + \pi^{2}e^{\mathcal{H}} \\ e^{\mathcal{H}} & 2e^{\mathcal{H}} & 2e^{\mathcal{H}} + 4\pi e^{\mathcal{H}} \\ \frac{\pi^{2}}{\pi^{2}} \end{bmatrix}$ $\frac{2e}{\chi^2} = \frac{\chi^2}{\chi^2} = \frac{2\pi e^{\chi} + \chi^2 e^{\chi}}{2\pi e^{\chi} + \chi^2 e^{\chi}}$ 2e3x (as solud above) $= \frac{2e}{\pi^2} \left(2\pi e^{-\frac{2\pi}{2} + \frac{2\pi}{2} - \frac{2\pi}{2}} \right)^{\frac{2\pi}{2}} \frac{2\pi}{2e^{3\pi}}$ $= -\frac{2e}{\pi^2} \left(e^{\pi} \left(2\pi e^{\pi} \pi e^{\pi} \right) - e^{\pi} \left(\pi e^{\pi} \right) \right)$ $\frac{2}{24} \times \frac{3\pi}{22}$. 1 $U_{3} = \begin{bmatrix} e^{\chi} & \chi e^{\chi} & 0 \\ e^{\chi} & e^{\eta} + \chi e^{\eta} & 0 \\ e^{\chi} & 2e^{\chi} + \chi e^{\eta} & 2e^{\chi} \\ e^{\chi} & 2e^{\chi} + \chi e^{\eta} & 2e^{\chi} \\ ze^{\chi} & ze^{\chi} \\ ze$ $=\frac{2e^{\eta}}{n^{2}}\left(\frac{e^{\eta}(e^{\eta}+ne^{\eta})-e^{\eta}(ne^{\eta})}{2e^{3\eta}}\right)=\frac{2e^{\eta}(e^{2\eta}+2e^{\eta}-ne^{\eta})}{2e^{3\eta}}$ $=\frac{3e}{\chi^2}\frac{3\pi}{2e}=\frac{1}{\chi^2}$ Yp=U,Y1+U2Y2+U3Y3 $\tilde{U}_{1} = \int dn = n$ $= \chi e^{\eta} + \chi \chi^{\prime} (-2 \ln |\eta| + \chi^{2} e^{(-1)})$ $U_{1} = \int \frac{-2}{\pi} dn = -2 \ln \ln l$ =yet - 2xellulal - yet $U_3 = \int \frac{dn}{n^2} = -\frac{1}{x}$ $\gamma p = -2\pi e^{2} h |\pi|$ Y= c, e+ c, xe+ c, xe - 2 x e [n/21]

Available at $\frac{10^{6}}{d^{3}y} = 2dy - 4y = e^{t} tann 10643$ www.mathcity.org dris dr. By synthetic division Sel D-2D-4=0 1 0 -2 -4 1 2 4 4 $(D-2)(D^2+2D+2) = 0$ $D=2,-1\pm 2$ 1 2 2 6 $Y_{e} = C_{e}^{2\chi} + (C_{cos} \chi + C_{sin}) \tilde{e}^{\chi}$ $D^2 + 2D + 2 = 0$. $D = \frac{-2 \pm \sqrt{4 - 4 \cdot 1 \cdot 2}}{2(1)} = -\frac{2 \pm \sqrt{4 - 8}}{2}$ $Let \gamma_{p} = U_{1}\gamma_{1} + U_{2}\gamma_{2} + U_{3}\gamma_{3}$ $= -2 \pm \overline{1-4} = 2(-1 \pm 2)$ where $y = e^{2x}$, $y = e^{-\pi} \cos x$, $y = e^{-\pi} \sin x$ $y' = 2e^{2\pi}$ $y'' = 4e^{2\pi}$ $Y'_{2} = \overline{e}^{\chi} \cos \chi_{4} \overline{e}^{\chi} \sin \chi_{+} \overline{e}^{\chi} \sin \chi_{-} \overline{e}^{\chi} \cos \chi_{-}$ $Y_2 = \overline{e}^{\chi} \cos \pi - \overline{e}^{\chi} \sin \pi$ $\gamma_2^4 = 2\bar{e}^{\chi} \sin \chi$ $y_3 = e^{-\pi} \sin \pi - e^{-\pi} \cos \pi - e^{-\pi} \cos \pi - e^{-\pi} \sin \pi$ Y'_ = - e Sinn + e Cosx m Putting values in $U_1Y_1 + U_2Y_2 + U_3Y_5 = U_1R_1 + U_2R_2 + U_2R_3 + U_2R_3 + U_3R_3 + U$ Putting values in U', Y', +U', Y'=0 U'2e' + U'(-e'cosx-e'sinn) + U(-e'sinx=c'sinn) + U(-e'sinx=c'sinx) + U(-e'sinx=c'sinn) +Puttigvalues in $U_1'Y_1' + U_2'Y_2 + U_3' = \overline{U}_1' + U_2 = V_2 = V_3 + U_3 (-2e^2 \cos x)$ = E Tann Solning by Cramers Rule. - ETENNA 0 ECosx ESinx ESinx Fe Cosx Entran <u>22ⁿSinn -22ⁿCosk</u> 2ⁿ EⁿCosk EⁿSinn 1ⁿ EⁿCosk -7 -7 e Sink $\hat{\mathcal{U}}_{i} = -$ 2en - e Cosn-e Sinn - e Sinnte Cosn - 2e Cosn 42 dé Sim Taky 2 Comment from C1 Sinn cosn Et Commi from C 2 2 -cosn-sin -sinn+Cosn/ En Comme front e 2 e.e.e

10.6-14 $\frac{1}{2} \frac{1}{2} \frac{1}$ - Normer Fromer +Sinn (4Sinn+4Cosn+4Sinn) $\frac{-3\chi}{2(\cos^{3}n+\sin^{2}n)+8(\cos^{3}n-4)\sin(\cos^{3}n+8)\sin^{3}n+4)\sin(\cos^{3}n-\frac{2}{2}+8(\sin^{3}n+6)\sin^{3}n+6)\sin^{3}n+6}{2(\cos^{3}n+\sin^{3}n)+8(\cos^{3}n-4)\sin(\cos^{3}n+8)\sin^{3}n+6)\sin^{3}n+6}$ -3x -2 Tann [-Sin Cosx+Cosx+Sin Kosx+Sin] U= e Tanx $U'_{2} = \begin{bmatrix} e^{2x} & 0 & e^{x} Sinx \\ 2e^{x} & 0 & -e^{2} Sin + e^{2} Cosx \\ 4e^{2x} & e^{2} Tanx & -2e^{x} Cosx \end{bmatrix}$ $U_{2} = -\frac{\chi}{2} \left[\frac{2\chi}{2} - \frac{\tilde{e}^{2} Sin\pi}{2} - \frac{\tilde{e}^{2} Sin\pi}{2} - \frac{2\chi}{2} - \frac{\chi}{2} - \frac{\chi}{2}$ $U_{L} = -\frac{T_{ann}(-S_{iin}+C_{asn}-2S_{iin})}{10} = +\frac{T_{ann}(3S_{iin}-C_{asn})}{10}$ $U_{3} = \begin{bmatrix} \frac{2\pi}{2} & \frac{e^{2t} \cos x}{2e} & p \\ \frac{2e^{2t}}{2e} & -\frac{e^{2t} \cos x - e^{2t} \sin x}{4e^{2t}} & 0 \\ \frac{2e^{2t}}{4e^{2t}} & \frac{e^{2t} \cos x - e^{2t} \sin x}{2e^{2t}} & \frac{e^{2t} - e^{2t} \cos x - e^{2t} \sin x}{10} \\ \frac{2e^{2t} - e^{2t} \sin x}{10} & \frac{e^{2t} \sin x}{10} & \frac{10}{10} \end{bmatrix}$ $= \frac{1}{2} \frac{$ $U'_3 = \frac{T_{ann}}{I_p} \left(-3c_{ann} - S_{inn}\right)$ $U_{2} = \frac{1}{10} \int (3Tan n Sin n \mp Tan n Cosn) dn_{2} = \frac{1}{10} \int (3Sin^{2} n \mp Sin n Cosn) dn_{2}$ $U_1 = \frac{1}{10} \int e^{-3\pi} T_{ann} dn$ $= \frac{1}{10} \int \left(\frac{3(1-\cos x)}{\cos x} + \sin x \right) dx = \frac{1}{10} \int \left(\frac{3\sec x}{\cos x} - 3\cos x + \sin x \right) dx$ = 1 [3ln/seex+Tanx]-3Sinn+Cosx] $U_3 =$

 $U_3 = \frac{1}{10} \int \frac{(37an \times Cos \times - 7an \times Sinn)}{10} dn$ = d (-3 Sinn Cosn - Sin) dn Cosn Cosn) $= \frac{1}{10} \int \left(\frac{3 \sin n - (1 - \cos n)}{\cos n} \right) dn$ = 1 (- 3Sinn - Seex + Cosx) dn = 1 (3 cos x - ln/seex+Tanx/+Sinn) $Y_{P} = U_{1}Y_{1} + U_{2}Y_{2} + U_{3}Y_{3}$ $= \frac{e}{10}\int_{e}^{2\pi} tan'x dn + \frac{eCosx}{10}[3ln[secx+Tomx] - 3Sinn+Cosn]$ + ESinx (3Cosx-ln/Secx+Tanz) + Sinn) $= \frac{e}{10} \left[e^{-3x} \tan x dn + \frac{e}{10} \left[3\cos x \ln |\sin x| - 3\sin x \cos x + \cos^2 x \right] \right]$ +e (3 Cosz Sinn-Sin x bul See x+Tann) + Sinn) $= \frac{e}{10} \left[e \tan dn + \frac{e}{10} \left[(3\cos x - \sin x) \ln |\sin x + 7 \tan x| + 1 \right] \right]$ $\gamma = \gamma_c + \gamma_p$ $= C_1 e^{2\chi} + (C_2 C_2 + C_3 S_1 + C_3 + e^{-3\chi} t_{ann} d_n)$ + e (3cosn-Sinn) but Secretann + 1]